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SA: =0
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Ha: HAS
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EHel: HASE A=2=0 NY(SE)(A=2S0HIISEL3AH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
==X 418,093 481,383 A 63,290
= 85,824
< 32,457
s 299,812
ASE M2 B A4 &R 372,490 418,153 ,663
= 60,726
< 26,182
[ia 285,582
HNASEE A=230 N (SE)(2 SZ23 372,490 418,153 ,663
= 60,726
< 26,182
[ia 285,582
22g 2el BE 285,582 325,000 418
308 XtXIEHH SOl A 285,582 325,000 418
07 IXNSHH UL S 285,582 325,000 418
O&XzHluE= 284,168
OAnLMEaERXH HES 544
OYLEE LT ZH| 56
ogegEasR 814
AZSHAIE #HHZHI 11,000 9,976 ,024
< 11,000
201 L2l 5,600 3,536 ,064
= 5,600
01 At 22l 5,600 3,536 ,064
O=ZHl & 2g=+ 5,600
< 5,600
202 odl 5,000 6,440 ,440
< 5,000
01 = LH YI 5,000 6,440 ,440
EZ0HI 5,000
< 5,000
301 L2 A= 400 0 400
< 400
1MIIEBEAS 400 0 400
SHHYD ADTNI 400
= 400
Sz WHAY 49,143 41,177 7,966
= 39,314
< 9,829
301 et a =z 48,143 38,177 9,966
= 38,514
< 9,629
01 MEIBEE 253 48,143 38,177 9,966
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AN =S
HE: HASS 49 B B4 2
EHel: HASE A=2=0 NY(SE)(A=2S0HIISEL3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFMeI2&d3 2 29,443
= 23,554
< 5,889
OL el 15,000
= 12,000
< 3,000
O=2g &3 3,000
= 2,400
< 600
OYA B 4HE 2 4] 500
2 400
< 100
OAz=UaX LAY XS 200
2 160
< 40
307 21201 A 1,000 3,000 A2,000
2 800
< 200
01 22724l 1,000 3,000 A 2,000
o=esg gs=s 1,000
= 800
< 200
A2 s Xl 26,765 32,000 25,235
= 21,412
< 5,353
301 YetE A 26,765 32,000 15,235
= 21,412
< 5,353
1MIIEBELSS 26,765 32,000 A5,235
OFal= g5 NI | 26,765
= 21,412
< 5,353
Heas(=2U=X1) 7,730 27,004 N19,274
BENE(Yd220II=SEsH) 7,730 27,004 N19,274
2Xa gre 7,730 27,004 N19,274
802 BtEt= DI Ef 7,730 27,004 N19,274
02 A - CHEXZUEZ 7,730 27,004 £ 19,274
OkHIEx3 gteza 7,730
HH2IZH (FU=X) 37,873 36,226 1,647
= 25,098
< 6,275
e 6,500
IEEEFIEEENPIES-ERD 37,873 36,226 1,647
2 25,098
= 6,275
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2gZb(FLU=TL)
2 (=303 EE3A)

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 6,500
Sz=0ael ASE2L(XA) 6,500 5,050 1,450
101 14 Hl 6,500 5,050 1,450
03 RIAHAZZ2 T2+ 6,500 5,050 1,450
O g2 SH2elAr BE SO, HIt2 4], THE
2SH ,otE=E S 6,500
SEs0ae dE2I(EX) 31,373 31,176 197
= 25,098
< 6,275
101 @14 Hl 31,373 31,176 197
= 25,098
< 6,275
03 RIHAZZ2HE =+ 31,373 31,176 197
Ogzas&elAL el 31,373
= 25,098
< 6,275
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